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i EF&I@'II HiAaE gicg &I EEFI%' C2 3‘7 Unit of magnetic flux density is
A. %T-I'ﬂ' Henry
B. CHAT Tesla
C. BIq Farad
D.d&Y Weber
2. graehy uery 7 Ve gifer Hegd: Fa g/ ¥ & € In a magnetic material,
hysteresis loss takes place primarily due to
[A] 3fFaE gdcg & ﬂﬁﬁﬁﬁ g & 9RTdT Flux densitylégging behind
magnetising force
[B] 3T {X ©YUT Molecular friction
[C] 3T 3Td YRUTfIT g1 & FRT its high retentivity
(D] gam & 3faeier 3cpaeT rapid reversal of its magnetisation
3.9 T _T:IJ?-_cﬁﬁ'J gRger & W STl ST & Wgﬁ? e An air gap is usually

inserted in magnetic circuits to

A. Hﬁﬁf’a YT Fr El?a'l?ﬁ %’ increase saturation current

; Eﬁiﬁ'ﬁr 3fHaIg &I Uerdr § decrease the magnetic flux
. 34ifd & wog ¥ s« & AT avoid fringing effect
AR E EF?@ #Y 78T none of these

4, S AT9HTA §GdT § dd 19T &7 YT When temperature increases, resistance of
copper
A . dgdl ?’ increases

B.Ecdl E\I decreases
C. =gl dgeldl will not change
D. W ) R Fear % dependent on the application

o 0o @
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5. ITelehcd &l Eﬁ'éi 47 3’ Unit of conductance is
A . 31EH Ohm
B. W—ﬁﬁ? Ohm-meter
C. HATH Siemens
D . &ellFs Coulomb
6. fa"\f;@( gfauelr arr Fr aEg U;I'U'ﬁh' =7 %The power factor of a purely resistive circuit is
A. R[ed zero B.UTsh unity
C . 9ddr lagging | D . AT leading
7. TH dR & 90y r EFEE | AR N e H QR Fa W gfade gem

Resistance of a wire is r ohms. The wire is stretched to double its length, then its resistance in
ohms is

A.rf2 B.A4r

C.2r D.r/f4

8. diel 12 3EA & woUy FHGT & 3T 10v de & 3R urR Fefewud §, e &

f¥ehelsl Tl ©IRT 89T Three 12 ohm resistors are connected in parallel and connected
across 10V battery, current drawn from the battery will be

A.1.2 39 Ampere
B.1.6 3URX Ampere
C.2.5 39X Ampere
D.1.0 34X Ampere
9. TA% TUIRT &7 39AT AT AT § Static Capacitors are used for
A . afEdd Qg‘ETI'{ F @ Power improvement
B. €T gﬂw & fAT Current improvement
C.dreedr gur F T Voltage improvement
D .= Eib Lo ﬂﬂﬂ % AT Power factor improvement.
10. a)f R C13ﬂ‘{ C, Aofr & gafeua %‘I THIST FUTREAT Eﬁﬁ Two capacitors C; & C;

are connected in series, effective capacitance will be
A. (Cy G)f (Ci+ Cy)
B.G/GC
C.G+ (G
D.G-GC

11. 98 AT9HTA gl gerey 3797 dsched @r &ar %Temperature at which a material loses
its magnetism is
A.W‘\ff JdI9HATA Curie temperature
B . ST dTUHA Tesla temperature
C . AT dAT9HAT Transition temperature
D.W dT9HTT Magnetic temperature
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12. A.C WIse T &I dleedl e & &l dloc d dgeral & | 30 Tt aeafor W

el aleedr el | Foran a.c. sine wave, voltage varies from zero to 100 V maximum.

How much is the voltage at the instant of 30 degree.
A . 87 Volts B . 100 Volts C.58 Volts D . 50 Volts

13. 3R Ush 220 dlec & drgs 110 dlec G FAT & df FSAT HT 39 89T Ifa
220 V heater is used in 110 V supply, heat produced by it will be

A. 3TYT One-half B. Eiaaiﬂliwice
C. TUsh ?ﬂ'?ﬂé One fourth D. IR 9T Four times

14. $u16:1 T e W.Iaquiqv HEH ST § Which medium has highest value of dielectric
strength?

AFTSHT Mica B.9I&TeNSe Porcelain
C. T®HICH Quartz D. &I Glass

15. 25 Hz & ST Hdfcd 1 L & HHTH A T Ggoa A THIT 9T §

a.c Time taken by sinusoidal a.c frequency 25Hz to rise from zero to its maximum value is
A . 0.02 seconds
B. 0.01 seconds
C. 0.005 seconds
D. 0.5 seconds

16.§'!FFFb°IﬁT e RAgled 9T F1E ST % Transformer works on the principle of
A. TE-UIHed Self inductance
B. 31dled Uehcd Mutual inductance
C. T8 &l 'l_aqu r_-l;etr#rz\lél f8@re=a Faraday’s laws of EMI
. FE-9Rca 3R HleT Wehcd Self and Mutual inductance
17. TERIAR H R 9RT gifar eafaf@a RS gart &0 & Fa1 8ar 2eddy current

loss in transformers is minimised by following method

A. 3d YfeRIaeSdr $IR gere High resistivity core material
B. Wf#=ICE &I Laminated core

C. g« A 3R B BothAandB

D. FWff@T 7 & ﬁé’ S8l None of the above

18. QITQ-H?\HSH &1 geTar AWemaH 'élé E.)' SId The efficiency of a transformer is maximum
when

o

. Tg 31 qUT HR R AT § It run at half full load
. Ig§ q‘Pﬁ' HAN 9 TeAdT % It runs at full load

A
B
C. 89aT Cu glfet dig &1far & sET & Its Cu loss equals iron loss
D g dg§ FEIR 9T TForar % It runs overload
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18, m% aﬁﬁmﬂ? drecdr &I 34'!3;%[313“ The frequency of the secondary voltage

of a transformer will be
A . UTafHS dlecdl &l EH'IQ%N{T hH Less than the frequency of the primary voltage
B . U@ dlecdrl & &Y Equal to the primary voltage
C.9rafHs dlecar i d-llcg"l?dlef SdIal  Greater than the frequency of the primary voltage
D . WrITAs aleedl @l 3@%?[?( EI§'EI' ST Very much greater that the frequency of the
primary voltage
20. ;Ia-Q-H;H-EI{ T areed AT Bldl & The voltage ratio of the transformer is given as
A . Es/Ep B.Ts/Tp
C.Te/Ts D . Ep/Ts
21. 220/6 V, 50 Hz ZEBIFR & TRAITAF FSoled H Folldel 110 V, 60 Hz J&rd & T
I[T Ar E{ﬁ?ﬁﬂﬁ f9IHA aleedr &9l The primary winding of a 220/6 V, 50 Hz transformer

is energized from supply. The secondary output voltage will be
A.36V By 25V
c.30v D. 60V

22. TEHIFY T GFahrg ARG §ROT B $HH GART #gedH HId & Magnetic flux
leakage is reduced to a minimum in a transformer by

A wafiEs 3R E\'ﬁ?ﬁﬂﬂ? E'TE!FIFT I Hod: TIUT HL & interleaving primary and
secondary winding

B.$scled I Sgd =BT eIt Fh  giving very good isolation to windings

C. &I & Yol I & laminating the core

D.3WIFT H ¥ IS Aal None of the above

23, Fef@d & & e S5 Sl & =@ifdd deTd #gTaH § Which of the
following generating station has the minimum running cost?

A E\_Cﬁ faa:ﬂﬁ a;a Hydro-electric station
B . SAIThIT Fall $g Nuclear power station
c. ard=r ZaT g Thermal power station
D. SISl 34l &g Diesel power plant
24. 3Td dieedl HAC Y8BT H AR & goUHT F FHA I & folv D.C. HROT

a7 # ¥ yerT U ara %’ In order to reduce the harmful effects of harmonics on the A.C.
side of a high voltage D.C. transmission system are provided.

A @W@' FEO9 synchronous condensers
B. ic THMRA shunt capacitors

C . 2 e shunt filters

D . ¥lfde &1fdqye static compensators
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25. AeIRf@a & O B At =1 UBINCAT FT ITYOT SATGT & Which of the following
motors has a high starting torgque?

A . AC ST #YeT AC series motor B.DC A0f HET DC series motor
C. WRUT eI Induction motor D. W HIEY Synchronous motor
26. DC HIX &I dlecdl HHHIOT § Voltage equation of a dc motor is

A.V =E, +13R; B.Ep=V +11R;
C.V=E /IR, 0. V=B +L5R,

27. SROT AT & Gogehrelr et 3N 3706 7 F AR 1 Fea & The difference

between the synchronous speed and the actual speed of an induction motor is known as

A. i?gé*elr—r Regulation B 9% o2 back lash
c. e slip D.a?Tlag
28. DC #fler &7 R#aRac® A commutator in a d.c. machine
A JTHATET A afda i g1fer & #97 FXaT & Reduces power loss in armature
B. &Y IRUY A Afea H g1fe # &7 ST & Reduces power loss in field circuit
C.9RT a.c ITHET dreedr & IcI8T dleedl H deodl &  Converts the induced

a.c armature voltage into direct voltage

D. &L A8 & Is not necessary
29. TS T IFeReX 2000 r.p.m F Fald §U 100V EMF Scuifee &¥ar &1 afX arfer wer

HT 3000r.p.m & & ST A 3cUMeT EMF fFraa BI9M? A shunt generator running at

2000 r.p.m has generated emf of 100V.
If the speed increases to 3000 r.p.m,the generated e.m.f will be

A.100V B.750V  C.1250V  D.150V
30. T STaEAT 400V OROT FHIeX GERT RHET aor 30T ¥ 100 N-m. TR ST

gleedr & HeehT 200V FT fear o ar fawfag oo 3TI'FJ‘;UIT BT Torque developed

by a three-phase, 400 V, induction motor is 200 N-m. If the applied voltage is reduced to 200 V,
developed torque will be,

A. 50 N-m B. 25 N-m

C. 200 N-m D.62.5 N-m

31. T DC Aofl FAleT 3MATY § 1, URT 9T &3 §V ol goehd Reufy & @
A gl Fex O RBefaa s HTq\UT (Eaaca Wﬂq'lﬁ? 8? A DCseries motor drawing an

armature current of I, is operating under saturated magnetic condition. The torque developed in
the motor is proportional to

A 1/1,

O

&

D. I
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32, FaUT 3@ YT AT ST 8T & Transmission line insulator is usually made of
A . Porcelain
B . Glass
C . Mica
D . XLPE
33, YhIQT =hr 1T B Light travels with a velocity of

A . 3x10% em/sec
B .3x10% m/sec
C .3x10%cm/sec
D .3x10° m/sec

34. TTSTECY H 37T aress Wa [&asr 8idT & Number of semiconductor layers in a

transistor is
A.2
B.1
Cc.3
D.6

35. ZleTeh fRdsh Jed & Triacis equivalent to
A. GTSCRs S HHAOT H Td=ud & two SCRs connected in parallel

B. @ISCRs ol Tawg g#ay A geaf=eid & two SCRs connected in anti parallel
C. W& SCR 3N U =418 S AR H H-Ud & one SCR and one diode

connected in parallel

D. A8 & ﬁé #8! None of these
36. U 3Mefoieh 318 TG IF ST MOSFET 3R BIT & Srfelaiol & Fiferd e §

A modern semi conductor device that combines the characteristics of MOSFET and BIT is
A. IGBT B. MCT
C. GTO D. SIT

37. 2 §AYC diferd I & 3eqe ‘0 ¥ R 3k % d9 9 seiqed A &

I ETE Eﬂﬁ fT The output of a 2 input logic gate is “0” if and only if its inputs are

unequal, It is true for
A. XNOR B. AND
C. NOR D. NAND

38. AfAerA AR FH@TF & PN S FT knee dleedr 81 The knee voltage of silicon

and germanium PN junction s,
A. 0.3V,07V B. 0.4V,03V
C. 0.7V,03V D. 0.1V,0.7V

39.Ush J&H ST Y & gAwIa: HiT & 9 819 &1 A microcontroller normally has
which of the following devices on-chip?

A. JF ROM B. 15T RAM
C. 1/Os D. 390ad THT all of the above
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40, HEROT IWT & ITeeh A 3cUTfed 3eAdal SR F:aT ¥ The sag produced in the
conductor of a transmission line depends on

A. TTelsh & Wid ol a5 T Weight of the conductor per unit length
B. Ul H Jell@ ¥ Tension in the conductor

C. dTeleh &I &al5 T Length of the conductor

D. 39T T all of the above

41, | T W - diccTs® Aol dgoldl &1 The solar or photo-voltaic cell converts
A, TEEAE FaT &Y faegd 33T F chemical energy into electrical energy
B. & fafeor &r %E}_Jjﬁ'é'-r S # solar radiations into electrical energy
c. | fafeRur & ardg FAT F solar radiations into thermal energy
D. ardT Fell &l ﬁa:gr—hzr Foll & thermal energy into electrical energy

42. SRAFT TEAT 14 H7 gfF URT Jodi% & Binary equivalent of decimal number 14
A.1110
B.1010
C. 1000
D.0101

43. aRTE 7 IRT EMF &1 aRATT GedaT & & FALIMGH &1ar & Magnitude of
E.M.F induced in a circuit is directly proportional to

A. ﬂﬁm HTHAE T the magnetic flux
B.3AGTE & 3MATT ¥ the size of the flux
C.3fAaE & sgag T g7 T rate of change of flux
D. 390ad H & EBT% &l None of the above
44. SImafssg 100 V 9= € 9% r.m.s. & AW § giee The r.m.s. value of

sinusoidal 100 V peak to peak is volt
A.100/ V2 B.50/V2
C.50 D.100

45, 31?!331?.‘{ $r ger ﬁ, RLC 99 HT &1 Under the condition of resonance, RLC

series circuit behaves as a

A.g &9 ¥ ufaredr aftaer Shar Purely resistive circuit
B. /g ®9 q WF gy ST) Purely inductive circuit
. ariRar g Capacitive circuit
D . HfATRaTeier IRTY Reactive circuit
46. et TUTRT fogerr & &= 8pF, 16puF 3T 320F & Ao & dafeua & quT eTiRar

g3 Three capacitors of value 8uF, 16puF and 32pF are connected in series, the total

capacitance will be
A.32/7 uF B. 7.32 yF C.56 uF D. 32 pF
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47. 9 T YREFAAT & Permeability of air
A . 8.854x10% F/m
B. 4rx107 H/m
C. 27x10” H/m
D. 8.854x10™ F/m

48.DC FM=T 9X Hopkinson's test f&Ham FTan %’ Hopkinson's test on DC machine is conducted
at

A 9oT #T 9X Full load
B.37] HX W Half load
C.%IS JX T =gl No load
D.3UFd H & Elflé' #&l. None of the above.
49“3'\01{ TRET (FHTCHIEE TS IET & wieT theeX FIT § Form factor for a full wave

rectified sine wave is
A.111
B.157
C.116
b P

50. fo9aT fhoex & ‘{Uﬁ' aiar Ueethay &1 Roger Yeret &7 & Ripple factor of a full-wave

rectifier without filter will be
A.0.2 B.0.48
Cc.0.24 D.1.21

51. #HIT IUTH Fr gfiamsT § Load factor is defined as the ratio of
A 39 AT / 3®FIH AT Average Demand / Max. Demand
B. 3Mf&dd AFT/ 3ia AT Max. Demand / Average Demand
c.3gd AR Taeed HR Average Demand / Connected Load
D. Tafewd X/ 3¥®edd AT Connected Load / Max. Demand
52. Watt hour TeRdeh! EEFI%' & Watt hour is the unit of

A. ﬁ?@a?ﬁ'q ATF Electric power B. ﬁaﬂ?ﬁﬁmﬂectric capacity
c. faegd™@ 39T Electric energy D. faegcfar #1ROT Electric charge

53. eafaf@a ol ues Ofeg ged & The following components are all active
components

A . T Yiaes 3R T& W& aresistor and an inductor
B.U& EMIE, Uk BIT 3 US FET adiode, a BJTand an FET
C.U& TURF AN T& 9 a capacitor, and an inductor

D .Ueh Op-amp, Ush BIT 3 TE thermionic triode  an Op-amp, a BIT and
thermionic triode

Page 8 of 10



54, 3IEY ThRSF 9a¥e FHr gI9c GfdsETer § Ideal operational amplifier has input

impedance of
A.1MQ B . infinity
C.zero D.1Q

55. ofd BRAE I19Y UF ST 3AE W JgHgsd giar g ar dg When forward bias is
applied to a junction diode, it

A. Ay Y FT Fear & increases the potential barrier

B.fdsr@ =l werar & decreases the potential barrier
Cs EIE'H@?F dIgeh ORT &I [T dsh "eTdr & reduces the majority-carrier current to
zero .

D. IoUaETH dlgsh YRT &I AT deh "Il & reduces the minority-carrier current
to zero

56. IfE Secl HaleWd WOTelr & I@T ORT |, §, o YEEAT R S0 g6 gEl I the

line current in a delta connected system is I, then phase current will be equal to

Al B.ly V3
C. V31, D.I /2
57 S8 AL H{pdishel ST Evaluate the matrix [4 ; ]
2 i
A. 26 B. 14
% -14 D. -26

58. T IAHT FH0T &1 qU-8HT I § s=t>-4t+ 1| 9g THY AT HfoY ST 397

TATST g ST & The distance time formula of a moving particle is given by s = t*- 4t + 1.

Find the time when the velocity vanishes,
A. 1 sec B. 2 sec
C. 0 sec D. None of these

59. feAfAT@T # & i 18,24, 36 T T=RATH (HCF) & Which of the following is the

highest common factor of 18, 24, 36

A. 6 B. 8
C. 36 D. 72

60. eAfaidd 7 FlT aﬁm?r TgH FE &  Which of the following Boolean rules is

correct?
AL A+0=0 B. A+1=1
C. A+A=AA D. A+AB=A+B
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Q“;':i"" Answer Key Qu:it_ion Answer Key Qu:,iion Answer Key
oL, B 21. C 41. B
02. C 22. A 42, A
03. A 23. A 45 ¢
04. A 24, C o B
05 C 75, "B 45, A
06. B 26. A 45 &
07. B 27. C 47. B
08. C 8. C 48. A
09. D 29. D 9. "
10. A 30. B 50. B
11. A 31. D B, A
17, D 32, A 52. C
13, C 3% B 53. B
14, A 34. C 54. B
15, B 35. B 55 B
16. D 36. A 56. B
17, c 37, A 57. C

[ as. C 38. c 58. B
19. B 39. D 59. A
20. A 40, D [ &), B




